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</ wuywunidp hwjwnbp hwjwnbp hwiwnnun lwpwgpnypnty
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud ugb “X”/ nbwpnud ugbip “X”/
<<Lwwwilh
1 Suwnd>> UM X 8071.6




Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwgh wnwewpyws ght
qpwnbgpwé U wutwygh wujwunudp /puinpqwd dwuuwlgh /wnwiig USE, << npwd/
wbintipp hwdwp uoby “X”/ ’
<<Lwwnwlh Swpd>>
1 ump X 8071.6

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwpwnnn hwy b

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubtiwlihg:

Quihwpwdht 21: Fudwi wnwplw E hwunhuwtnd® Phunwnhu 10% 1204

<pwybph wwhwugubpht | <pwybtph ywwhwugubphu
Uwutiwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwdwwywinwuliwbnge)ut
</€ wuyjwunwdip hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwuluwubnt /shwdwwwuinwufuwubint
nbGwpnid ugk| “X”/ nGwpnid uok “X”/
<<Lbynwtpu>>
1 Jl&rqé . X 8800
<<Lwwwih
2 Swpd>> UM 11142
Uwutwlyhgutiph Cunpjwéd Jwutwlyhg Uwutiwlgh wnwewplyws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpywé dwutwlgh /winuig U<, €< npuid/
wbnbkpp hwdwp ugk) “X”/ ’
<<Lbjynw|tipu>> UMNLC
1 riR X 8800
<<Lwwnwh dwpd>>
2 umne 11142

Lupndwd Jwutiwlighti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puwudwnwnnn hwyn U

ujwquanuyti aiuyhti wnwownly tinuywagnwd dwutiwlhg:

Quihwpwdhu 22: Fudwt wnwplw E hwunhuwtnud® Unwypwuwnpt 1dg

<pwybph wwhwugubpht | <pwybtph ywwhwugoubphu
Uwutwygh hwdwwywwnwujuwunn shwiwwywwwujuwunn Uthwdwywnwyluwnie)wl
/< wujwunwdip hwjwnbp hwjwnbp hwdwnnun tlwpwgpnypenty
/hwdwwwwnwufuwubint /shwdwwwwnwuluwubiint
nbiwpnid Uk “X”/ nbwpnid uoky “X”/
<<Lwwwih
1 Swpd>> UM X 1469.25
Uwutwlyhgubph Cunpjwéd Jwutuwlyhg Uwutiwlgh wnwewplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwuuwlgh /wnwitig USE, << npwd/
wnbintipp hwdwp Uk “X”/ ’

1

<<Lwwnwh Swpd>>
umne

X

1469.25

Ltuppdwd dwubiwlghti nnnobyni hwdwn Uhpwndws swhwbihy' hpwdbnh wwhwbotiinhtl pwdwpwnnn hwg U

ujwquwagnyti quyghtt wnweownly ubphuywagnwdé Jwutiwlhg:

Quithwpwdht 23: Sudwt wnwpyw E hwunhuwund® Stunpwlwht wiuwlwehjutp 1%104]




<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwlygh hwiwwywwwuluwunn shwiwwywwwujuwunn Uthwdwywnwuluwinie)wl
</< wujwunwdp hwjwinbip hwjwinbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 bwpd>> UMNLC X 23760
Uwutiwyhgubph Cunpjwé dwutiwlyhg Uwutiwlgh wnwewplws ght
qpwnbgpwé U wutwlygh wujwunudp /punpwé dwutwlgh / tg UCC. £C 8/
wnbknbpp hwdwp ugk) “X”/ wnwig ’ i

1

<<Lwuwnwh Swpd>>

umne

X

23760

Lupndwd Jwutiwlghti nnnobnt hwdwn Uppwndws swthwtihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubtiwlihg:

Quihwpwdht 24: Fudwl wnwpyw E hwinhuwunud® puwdup wbpopuhn 3% 1004]

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwiwywinwufuwnie)ut
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud ok “X”/ nbwpnud gk “X”/
<<Lbgynw tpu>>
1 ump X 6450
<<Lwwwih
2 bwpd>> UuMne 9720
<<4hlwnp
3 Quyjwu 9000
Nwdhyh>> U
Uwutiwlyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwewplyws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutuwlgh Jwnuwiba USS. £ nnud/
wbnbkpp hwdwp ugk) “X”/ 9 S5
<<Lbjynw|tpu>> UMNLC
1 i X 6450
<<hlywnp Quiyjwu
2 Mwhlyh>> UQ 9000
<<Lwunwh dwpd>>
3 b r 9720

ume

Lpndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hnwdbnh wwhwbotinhti puwudwnwnnn hwn U

ujwquwagnyti quyhtt wnweownly ubphuywagnwdé Jwutiwlhg:

Quithwpwdht 25: Sudwt wnwpyw k hwunhuwund® <pnpnlynpinhgnu punty 15

<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwlygh hwiwwywwmwuluwunn shwiwwywwwujuwunn Uthwiwywnwuluwnie)wl
</< wujwunwdip hwjwnbp hwjwnbp hwiwnnin Uywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint
nbwpnud uoky “X”/ nbwpnud bk “X”/
<<Lwwwih
1 Suwpd>> UM X 2376
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Uwutwlhgubphp
qpwntgpwé

wnbinbkpp

Uwutwlygh wujwunuip

Lunpwéd Jwutwlhg
/puinpqwd dwuuwlgh
hwdwp ugh “X”/

Uwutiwlygh wnwowpYws ghu
/wnwug UKL, ££ npwd/

1

<<Lwwnwlh Swpd>>

umne

X

2376

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwpwnnn hwy b

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubtiwlihg:

Quithwpwdht 26: Fudwy wnwplw E hwiunhuwtunud' Lwuwphnwih ghnunybwwn 54; 30% N10

<pwybph wwhwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywinwufuwnie)ut
</< wujwunwdp hwjwinbp hwjwinbp hwdwnnin WwpwgpnypnLy
/hwdwwwwnwuluwubnt /shwdwwwuinwufuwubint
nGwpnid uok “X”/ nGwpnid ugk| “X”/
<<Lbynw|tpu>>
1 Jld,qml . X 3307.5
<<Lwwwih
2 bwpd>> UMNLC 3523.5
Uwutiwlyhgubph Lunpjwéd Jwutwlhg U wutiulgh wnwowpljwé ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpywé dwutwlgh Junwiia UCZ. €< nnud/
wbnkpp hwdwp gk “X”/ 9 =S A
<<Lbjynwitpu>> UMNC
1 hnwiip X 3307.5
<<Lwunwh Swpd>>
2 ump 3523.5

Lupndwd Jwutiwlighti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puwudwnwnnn hwyn U

ujwquanuyti aiuyhti wnwownly tinuywagnwd dwutiwlhg:

Quihwpwdhi 27;: Fudwt wnwplw E hwunhuwunid® Sbipnilywg 5dg/20) N10

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinie)ul
/< wujwunwdip hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 Suwpd>> UM X 1714.5
Uwutwyhgubph Cunpjwé dwutiwlyhg Uwutiulgh wnwewplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh /wnwiig USE, €< npwd/
wnbintipp hwdwp ugb) “X”/ ’

1

<<Lwwnwh dwpd>>

umne

X

1714.5

Lpndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hnwdbnh wwhwbotinhti puwudwnwnnn hwn U

ujwquwagnyti quyghtt wnweownly ubphuywagnwdé Jwutiwlhg:

Quithwpwdht 28: Fudwl wnwpyw k hwunhuwund® Usuwnbluhtu n/h N20

Uwutwygh <pwybph whwugubpht | <pwybtph ywwhwugubphu Uthwiwywinwufuwnie)ul
</< wujwunwdip hwiwwwwwuluwunn shwiwwywwwujuwunn hwdwnnin lwpwgpnyenty
hwjwnbp hwjunbp pugnnype
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/hwdwwwwnwufuwubnt
nbwpnud gk “X”/

/shwdwwwwnwuluwubint
nbwpnud gk “X”/

<<Lwwwih
1 Swpd>> UM X 26360
Uwutwlyhgutiph Cunpjwéd Jwutuwlyhg
qpwnbtgnpwsé U wutiwlygh wujwunudp /puinpqwd dwutwlgh Uwutiuligh wnwguipljwé ght

wnbinkpp

hwdwp ugh “X”/

/wnwug UKL, ££ npwd/

1

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwnpwnnn hw b

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubiwlihg:

Quihwpwdht 29: Yudwy wnwplw k hwunhuwunid® Un-puyw 40dg20) N10

<pwybph whwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywinwufuwnige)ut
</€ wujwunwdp hwjwnbip hwjwnbp hwdwnnw ly el
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint wa wipgnnie
nbwpnud gk “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Swpd>> UM X 1891.1
Uwutiwyhgubph Cunpjwé dwutiwyhg Uwutiwlgh wnwowplws ght
qpwnbtgnpwdé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Jwnwitia USS. €< nnud/
wnbinkpp hwdwp Uk “X”/ 9 S5

1

<<Lwwnwh Swpd>>

umne

X

1891.1

Ltuppywd dwubiwlghti nnnobynt hwdwn Yhpwndwd swhwbihy' hpwdbnh wwhwbobiinhtl pwdwpwnnn huwg U

ujwquwagnyti quyghtt wnweownly ubphuywagnwdé Jwubtiwlhg:

Quihwpwdhu 30: Fudwt wnwplw E hwiunhuwunid® Napuwdbnwgnu wduy.4dg1d) N5

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinie)ul
</€ wujwunwdp hwjwnbip hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint wdwnnwn Ujwpwgpnypnt
nbwpnud ugb “X”/ nbwpnud gk “X”/
<<Lwwwih
1 Swnd>> UM X 5900
Uwutiwlyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbnbpp hwdwn Uty “X”/ g uss, S5

1

<<Lwwnwh dwpd>>

umne

X

5900

Lpndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hnwdbnh wwhwbotinhti puwudwnwnnn hwn U

ujwqwanuyt aiuyhti wnwownly tinhuwywagnwd dwutiwlhg:

Quithwpwdht 31: Fudwt wnwpyw E hwunhuwunu® NHapdwghu 50q

/<

Uwutwygh
wujwunwdip

<pwybph ywhwugubphu
hwiwwwwwuluwunn
hwjwnbp

<pwybph ywhwugubphtu
shwiwwywwwujuwunn
hwjwnbp

Uuhwilwwywunwuluwunyejwu
hwdwnnun ufuwpugpnypniu
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/hwdwwwwnwufuwubnt
nbwpnud gk “X”/

/shwdwwwwnwuluwubint
nbwpnud gk “X”/

<<Lwwwih
1 Swpd>> UM X 8185.4
Uwutwlyhgutiph Cunpjwéd Jwutuwlyhg
qpwnbtgnpwsé U wutiwlygh wujwunudp /puinpqwd dwutwlgh Uwutiuligh wnwguipljwé ght

wnbinkpp

hwdwp ugh “X”/

/wnwug UKL, ££ npwd/

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwnpwnnn hw b

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubiwlihg:

Quihwpwdhu 32: Yudwy wnwplw k hwunhuwunid® L-inppnyupt 100dg N100

<pwybph whwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywinwufuwnige)ut
</€ wujwunwdp hwjwnbip hwjwnbp hwdwnnw ly el
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint wa wipgnnie
nbwpnud gk “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Dwpd>> UMP X 38800
Uwutiwyhgubph Cunpjwé dwutiwyhg Uwutiwlgh wnwowplws ght
qpwnbtgnpwdé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Jwnwitia USS. €< nnud/
wnbinkpp hwdwp Uk “X”/ 9 S5

<<Lwwnwh Swpd>>

1

umne

X

38800

Ltuppdwd dwubiwlyghti nnnobyni hwdwn Uhpwndwd swhwbihy' hpwdbnh wwhwbobiinht pwdwpwnnn huwpg U

ujwquwagnyti qguuyhtt wnweownly ubphuywagnwd Jwutiwlhg:

Quihwpwdht 33: Fudwyu wnwplyw E hwiunhuwund® Udinnhwht 5dq N30

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinie)ul
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 Swnd>> UM X 46500
Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutwlgh /wnwiig USE, €< npwd/
wnbintipp hwdwp ugb) “X”/ ’

Lpndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hnwdbnh wwhwbotinhti puwudwnwnnn hwn U

ujwquwanuyt auyhti wnwownly tinhuwywagnwd dwutiwlhg:

Quihwpwdhtu 34: Fudwt wnwplw E hwunhuwunud® Uwbunin| 50dg N100
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<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwlygh hwiwwywwwuluwunn shwiwwywwwujuwunn Uthwdwywnwuluwinie)wl
</< wujwunwdp hwjwinbip hwjwinbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 bwpd>> UMNLC X 9250
Uwutiwyhgubph Cunpjwé dwutiwlyhg Uwutiwlgh wnwewplws ght
qpwnbgpwé U wutwlygh wujwunudp /punpwé dwutwlgh / tg UCC. £C 8/
wnbknbpp hwdwp ugk) “X”/ wnwig ’ i

Lupndwd Jwutiwlghti nnnobnt hwdwn Uppwndws swthwtihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubtiwlihg:

Quihwpwdhu 35: Fudwi wnwpyw E hwiunhuwtunud' bwpnhytinn nbnwnn 20 N50

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwiwywinwufuwnie)ut
</< wujwunwdp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 Sbwpd>> UMNLC X 48480
Uwutiwyhgubph Cunpjwé dwutiwyhg Uwutiulgh wnwewplws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpywé dwutwlgh /wnwiig USE, €< npwd/
wnbintipp hwdwp Uk “X”/ ’

1

<<Lwwnwlh dwpd>>

ume

X

48480

Lupndwd Jwutiwlghti nnnobine hwdwn Uppwndws swthwbihy' hpwdbnh wwhwotinhti puwdwnwnnn hwyin U

ujwquwagnyti qguuyhtt wnweownly ubphuywagnwd Jwutiwlhg:

Quihwpwdhtu 36: Fudwt wnwplw E hwunhuwunud® Unpnwpnu 200dg N30

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwdwwywwnwujuwunn shwiwwywwwujuwunn Uthwiwwywnwuluwinte)w
/< wujwunwdip hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnu uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 Suwpd>> UM X 130000
Uwutwlyhgubph Cunpjwéd Jwutuwlyhg Uwutiulgh wnwewplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh /winuiig UC<, €< npuid/
wbinkpp hwdwp ugb) “X”/ ’

1

<<Lwwnwh dwpd>>

umne

X

130000

Ltuppdwd dwubiwlghti nnnobyni hwdwn Uhpwndws swhwbihy' hpwdbnh wwhwbotiinhtl pwdwpwnnn hwg U

ujwquwagnyti quuyhtt wnweownly tbphuywagnwdé Jwutiwlhg:

Quithwpwdht 37: Fudwy wnwplw E hwunhuwunid® Nwuwughu 100 N5
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<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwlygh hwiwwywwwuluwunn shwiwwywwwujuwunn Uthwdwywnwuluwinie)wl
</< wuywunidp hwjwnbp hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint wdwnnwn Ujwpugpnypent
nbwpnud gk “X”/ nbwpnud gk “X”/
<<Lwwwih
1 bwpd>> UMNLC X 2444.2
Uwutiwyhgubph Cunpjwé dwutiwlyhg Uwutiwlgh wnwewplws ght
qpwnbgpwé U wutwlygh wujwunudp /punpwé dwutwlgh Jwunwtig USS. €€ nnud/
wnbknbpp hwdwp ugk) “X”/ 9 ’ i
<<Lwwnwh dwpd>>
! UfLED ’ X 2444,

Lupndwd Jwutiwlghti nnnobnt hwdwn Uppwndws swthwtihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubtiwlihg:

Quihwpwdht 38: Fudwi wnwpYuw E hwinhuwunud® Dnipnubidhn 1%24) N10

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwiwywinwufuwnie)ut
</€ wujwunwdp hwjwnbp hwjwinbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<4hywnp
1 Quiyjwu X 1395
Nwdhyh>> U
<<Lwwwih
2 bwpd>> UuMne 1494
U wutwlyhgubiph Cunpjwéd Jwutwlyhg Uwutiwlgh wnwewplws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpqwé dwutwlgh /winuig UC<, €< npuid/
wbinkpp hwdwp ugh “X”/ ’
<<hlywnnp Quuijwt
1 ntusphur;»i uLg X 1395
5 <<Lwwnwlh dwpd>> 1494

ume

Lupndwd Jwutiwlghti nnnobine hwdwn Uppwndws swthwbihy' hpwdbnh wwhwotinhti puwdwnwnnn hwyin U

ujwqwanuyt auyhti wnwownly tinhuwywagnwd dwutiwlhg:

Quithwpwdhu 39: Fudwi wnwplw E hwunhuwunud® Thpwany 1%54] N10

<pwybpph wwhwugubpht | <pwybph wwhwugubphu

Uwutwlygh hwiwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinieut

</ wuywunidp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud ugb “X”/ nbwpnud ugbip “X”/
<<Lwwwih
1 Suwnd>> UM X 2016
Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbnkpp hwdwn Uty “X”/ g uss, S5
<<Lwwnwh dwpd>>
1 ump X 2016
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Lupndwd Jwutiwlghti nnnobint hwdwn Yppwndwd swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwquwanuyt gughti wnwownly binhuywagnwd dwutiwlhg:

Quihwpwdhu 40: Fudwt wnwplw E hwunhuwunud® Sti$unphwpunu 1g

<pwybph wwhwugubpht | <pwybtph ywwhwugubphu

Uwutwlygh hwdwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywnwuluwbnte)wl

</ wujwunwdp hwjwnbp hwjwnbp hwdwnnun tlwpwgpnypnty
/hwdwwwwnwuluwubnt /shwdwwwuinwufuwubint pignnyp
nGwpnid uok “X”/ nGwpnid ugk| “X”/
<<Lwwnwih
1 Swpd>> UM X 36210
Uwutwlyhgutiph Cunpjwéd Jwutuwlyhg Uwutiwygh wnwewpyws ght
qpwnbgpwé U wutwlygh wujwunudp /punpwé dwutwlgh /wnwitig USE, << npwd/
wbnbkpp hwdwp ugky “X”/ ’

Ltuppywd dwubiwlghti nnnobyni hwdwn Yhpwndwd swhwbihy' hpwdbnh wwhwbotiinhtl pwdwpwnnn huwg U
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Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywnwuluwinte)wl
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/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
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Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwdwywnwyluwnie)wl
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
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<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwdwwywinwuliwbnge)ut
</€ wuyjwunwdip hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
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qpwnbtgpwé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh /winuig UC<, €< npuid/
wbinkpp hwdwp ugh “X”/ ’

1

<<Lwwnwlh dwpd>>

X

24060

umne

Ltuppywd dwubiwlghti nnnobyni hwdwn Uhpwndwd swhwbihy' hpwdbnh wwhwbobiinhtl pwdwpwnnn huwpg U

ujwquwagnyti qguuyhtt wnweownly ubphuywagnwd Jwutiwlhg:

Quithwpwdht 50: Fudwt wnwplw £ hwunhuwunud® dbpnowhpnu n/h 254g
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Uwutwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwdwywnwyluwnie)wl
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Uywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint
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Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwewplws ght
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<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwdwwywinwuliwbnge)ut
</€ wuyjwunwdip hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud gk “X”/ nbwpnud gk “X”/
<<Lwwwih
1 bwpd>> UMNLC X 15190
<<4hlwnp
2 Quyjwu 14000
Ntwphyph>> U
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Quihwpwdhtu 52: Yudwt wnwplw E hwunhuwunut® Euwqwwpnhy n/h 10dq N20
<pwybph whwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwdwywnwyuwbnie)wl
</< wujwunwdp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
nbwpnud gk “X”/ nbwpnud gk “X”/
<<Lwwwih
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U wutwlyhgubiph Cunpjwéd Jwutwlyhg Uwutiwlgh wnwewplyws ght
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Uwutwlygh hwiwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywnwuluwnie)wl
</ wuywunidp hwjwnbp hwjwnbp hwiwnnun lwpwgpnypnty
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
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Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwuuwlgh /wnwig USE, << npwd/
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Uwutiwlhgubph CLunpjws Jwutiwlhg Uwutiwlgh wnwewplyws ght
qpwnbtgnpwdé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Jwnwitia USS. €< nnud/
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Uwutwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwdwywnwyuwbnie)wl
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/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
nbwpnid Uk “X”/ nbwpnid uoky “X”/
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/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
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Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwewplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwuuwlgh /wnwiig USE, €< npwd/
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2 anunp 12000
Lupndwd dwubiwlight nnnoknt hwdwn Uhpwndwd swhwtihy' hpwdbnh wwhwbobiinht puudwnwnnn hwyn b
ujwaquwanuyti auyhti wnwownly tinhuywagnwd dwutiwlhg:
Quithwpwdhu 83: Fuiwu wnwpyw E hwiunhuwtnus' Utiipnuhnwgn 500dg N20
<pwybph wwhwugubpht | <pwybtph ywwhwugoubphu
Uwutwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwdwywnwyluwnie)wl
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubint /shwdwwwwnwuluwubiint .
nbwpnud gk “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Swpd>> UM X 20315
Uwutiwlyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwewplyws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutuwlgh Jwnuwiba USS. £ nnud/
wnbnbkpp hwdwp ugk) “X”/ 9 S5
<<Lwwnwh Swpd>>
1 ume X 20315
LCuppdws dwutiwlighti npnobnt hwdwnp Ghpwndwé swihwipy' hpwybph wwhwtobtbiphti pwdwpwpnn huyy U
ujwquwanuyt auyhti wnwownly tinhuwywagnwd dwutiwlhg:
Quihwpwdhu 84: SGudwi wnwpYw k hwunhuwund® Udnpuhghiht (winpuhghihtt iphhhnpwin), prudnyutiwpepent
(Ywihnidh plwynywuwww)
<pwybpph wwhwugubphtu | <pwybph wwhwugubphu
Uwutwlygh hwiwwwwmwuluwunn shwdwwywwnmwuluwunn Uhwiwywinwufuwtnieut
</ wuywunidp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint pugnnype
nbwpnud ok “X”/ nbwpnud ugbip “X”/
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<<Lwwuwih
1 Suwpd>> UM X 37200
Uwutwyhgubph Cunpjwé dwutwyhg
qpwnbgpwé U wutwlygh wujwunudp /punpwé dwutwlgh Uwutiwlgh wnwguwipljws ght

wntinbkpp

hwdwp ugk) “X”/

/wnwug UKL, ££ npwd/

<<Lwuwnwh Swpd>>

1

umne

X

37200

Lupndwd Jwutiwlghti nnnobnt hwdwn Uppwndws swthwtihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwaqwanuyt guyhti wnwownly tinhuywagnwd dwutiwlhg:

Quithwpwdhu 85: Fudwu wnwpyw E hwiunhuwtnus' Ukipwplhs wubinny 204

<pwybtph wwhwugubpht | <pwybtph wwhwugubphu
Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwiwywnwuluwbnte)wl
</< wuyjwunwdip hwyinbp hwyunbp hwd u u
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint wdwnnwn Ujwpugpnypent
nbwpnud ok “X”/ nbwpnud gk “X”/
<<bvwswywp>>
1 U’%'l#] " X 3200
<<Lwwwih
2 Sbwpd>> UMNLC X 3510
Uwutiwlyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwewplyws ght
qpwnbtgnpwdé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Jwnuibia USS. £ nnud/
wbnbkpp hwdwp ugky “X”/ 9 S5
<<fuwswywp>> UMNC
1 A X 3200
<<Lwunwh dSwpd>>
2 b " 3510

umne

Ltuppdwd dwubiwlyghti nnnobyni hwdwn Uhpwndwd swhwbihy' hpwdbnh wwhwbobiinht pwdwpwnnn huwpg U

ujwquwagnyti qguyhtt wnweownly ubpLhuywagnwdé Jwubtiwlhg:

Quithwpwdhu 86: Fudwl wnwpyw E hwiunhuwtnus' Uhipwplhs wubnny 104

<pwybph wwhwugubpht | <pwybtph ywwhwugoubphu
Uwutwygh hwdwwywwnwujuwunn shwiwwywwwujuwunn Uthwiwywinwufuwnige)ul
</€ wujwunwdip hwjwnbp hwjwnbp hwdwnnin uy nurentl
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint . wipgnniye
nbwpnud gk “X”/ nbwpnud gk “X”/
<<huwswywp>>
1 U%HQ " X 5350
<<Lwwwih
2 Swpds>> UM X 6075
Uwutiwlhgubph CLunpjws Jwutiwljhg Uwutiwlgh wnwowplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbinkpp hwdwp Ut “X”/ 9 =S =%
<<fuwswywp>> UMNLC
1 B X 5350
<<Lwuwnwh dSwpd>>
2 ump 6075
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Lupndwd Jwutiwlghti nnnobint hwdwn Yppwndwd swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwquanuyt gughti wnwownly binhuywagnwd dwutiwlhg:

Quihwpwdhu 87: Fudwt wnwplw E hwunhuwunud® Udnpuwghihu n/h 500 dg N20

<pwybtph wwhwugubpht | <pwybtph wwhwugubphu
Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwiwywnwuluwbnte)wl
</< wuyjwunwdip hwyinbp hwyunbp hwiwnnin twpwgpnyEnL
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 bwpd>> UMNLC X 39690
Uwutwyhgubph Cunpjwé dwutwyhg Uwutiwlgh wnwewplws ght
qpwnbgpwé U wutwlygh wujwunudp /punpwd dwutwlygh / tg UCC. £C 8/
wnbknbpp hwdwp ugk) “X”/ wnwig ’ i

1

<<Lwwwh dwpd>>

ume

X

39690

Lupndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwaquwanuyt auyhti wnwownly tinbuwywagnwd dwutiwlhg:

Quihwpwdhu 88: Yudwi wnwplw E hwunhuwunut® Sbpnud |l opwpwly 50dq/ d)

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwiwywinwufuwnie)ut
</€ wujwunwdp hwjwnbp hwjwinbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 Suwpd>> UM X 135100
Uwutiwyhgubph Cunpjwé dwutiwlyhg Uwutiwlgh wnwewplws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh /wnwiig USE, €< npwd/
wnbintipp hwdwp Uk “X”/ ’

1

<<Lwwnwlh dwpd>>

ume

X

135100

Lupndwd Jwutiwlghti nnnobine hwdwn Uppwndws swthwbihy' hpwdbnh wwhwotinhti puwdwnwnnn hwyin U

ujwquwagnyti qguuyhtt wnweownly ubphuywagnwd Jwutiwlhg:

Quithwpwdhu 89: Fudw wnwpyw E hwiunhuwtnus' Uh$binhuyht 10dq N50

<pwybpph wwhwugubphtu | <pwybph wwhwugubphu
Uwutwlygh hwiwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinieut
</ wuywunidp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud ugb “X”/ nbwpnud ugbip “X”/
<<Lwwwih
1 Suwnd>> UM X 31240
Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgnpwdé U wutiwlygh wujwuniudp /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbnkpp hwdwn Uty “X”/ g uss, SN

1

<<Lwwnwh dwpd>>

umne

X

31240
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Lupndwd Jwutiwlghti nnnobint hwdwn Yppwndwd swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwquwanuyt gughti wnwownly binhuywagnwd dwutiwlhg:

Quithwpwdhu 90: Yudwl wnwplw E hwunhuwunut® Udinnhwhtul0dg

<pwybtph wwhwugubpht

<pwybtph ywhwugubpht

Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwiwywnwuluwbnte)wl
</< wuyjwunwdip hwyinbp hwyunbp hwiwnnin twpwgpnyEnL
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<4Yhlwnp
1 Quiyjwu X 153000
Nwdhyp>> UQ
<<Lwwwih
2 Swpd>> UNC X 108765
Uwutwlyhgutiph Cunpjwéd Jwutwlyhg Uwutiulgh wnwewplws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpywé dwutwlgh /winuig U<, €< npuid/
wnbinbkpp hwdwp gty “X”/ ’
: <<bwmlL1JJrLr[]108>wpd>> X 108765
<<hlywnnp Quuijwt

Lupndwd Jwutiwlghti nnnobine hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwqwanuyt auyhti wnwownly tinuwywagnwd dwutiwlhg:

Quihwpwdhiu 91: Fudwy wnwplw E hwunhuwunud® Nacl 0.9% 500 ap

<pwybtph wwhwugubpht

<pwybph ywhwugubpht

Uwutiwygh hwiwwwwmwufuwunn shwiwwywwnwujuwunn Uthwiwywinwufuwinie)ul
</€ wujwunwdp hwjwnbip hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint wdwnnwn Ujwpwgpnypnt
nbwpnud ugb “X”/ nbwpnud gk “X”/
<<LbGynw|tpu>>
1 JLLJJmDL . X 4125
<<Lwwwih
2 Swpd>> UM X 4350
Uwutwlhgubpp Lunpwéd Jwutwlhg
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutuwlgh Uwutiuligh wnwguipljwé ght

wnbinbkpp

hwdwp ugh “X”/

/wnwtg UKL, LK npud/

1

<<Lbjynw|bpu>> UMNLC

X

4125

2

<<Lwwnwh dwpd>>
umne

4350

Ltuppdwsd dwubiwlghti nnnobyni hwdwn Uhpwndws swhwbihy' hpwdbnh wwhwbiotiinhtl pwdwpwpnn hwg U

ujwquwagnyti quyhtt wnweownly tbphuywagnwdé Jwutiwlhg:

Quithwpwdht 92: Yudwy wnwplw E hwinhuwtnud® NaCl 0.9%250

Uwutwygh
</< wuyjwunwdip

<pwybph whwugubpht | <pwybtph ywwhwugubphu

hwiwwwwwuluwunn shwiwwywwwujuwunn
hwjwnbp hwjwnbp

/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint

Uuhwilwwywunwuluwunyejwu
hwdwnnun ufuwpugpnypniu
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nbwpnud gk “X”/ nbwpnud gk “X”/
<<LbGynw|tpu>>
1 Jldqul . X 16440
<<Lwwwih
2 Swpd>> UM X 16800
Uwutiwlhgubiph Cuwnpjwé dwutiwyhg Uwutiwlgh wnwowplwsé ght
qpwnbgpwé U wutwlygh wujwunudp /punpwd dwutwlygh Jwnwitia USS. €< nnwd/
wnbnbpp hwdwp ugk) “X”/ I ’ w
1 X 16440
<<Lwuwnwh Swpd>>
2 16800

umne

Lupndwd Jwutiwlghti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puudwnwnnn hwyin U

ujwquwanuyt auyhti wnwownly tinhuwywagnwd dwutiwlihg:

Quithwpwdht 93: Fudwt wnwpyw E hwunhuwunid® Uuypphu-Yupnhn 100dg N20

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwwwnmwuluwunn Uthwdwywnwyuwbnie)wl
</€ wujwunwdp hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint
nbwpnud uoky “X”/ nbwpnid ugky “X”/
<<Lwwwih
1 bwpd>> UMNLC X 66450
Uwutiwlyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutuwlgh /wnwiig USE, €< npwd/
wnbintipp hwdwp Uk “X”/ ’

<<Lwwwlh dwpd>>

1

ume

X

66450

Lupndwd Jwutiwlighti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puwudwnwnnn hwyn U

ujwquanuyti aiuyhti wnwownly tinuywagnwd dwutiwlhg:

Quihwpwdhu 94: Fudwi wnwplyw E hwunhuwunu® Cwwink thwjnt

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinie)ul
</€ wujwunwdp hwjwnbip hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint wdwnnwn Ujwpwgpnypnt
nbwpnud uob “X”/ nbwpnud ugkip “X”/
<<huwswywp>>
1 umpe X 26500
<<Llunu b
2| Lwdwpws> UMC X 24250
<<Lwwwih
3 Suwpd>> UM X 25950
<<LbGynw|tpu>>
4 ump X 20500
Uwutwlyhgubphp Cunpjwéd Jwutwlyhg U wutwlgh wnwowpyws ghu
qrunbgpws | O Wulwlgh wwtindp | s Swuutugh /wnwtg UL, €< npuid/
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wnbinkpp

hwdwp ugb “X”/

<<Lbynw)bpu>> UMC

1 X 20500
<<Lunu b Lwdwpw>>

2 ump 24250
<<Lwwnwh Swpd>>

3 25950

umne

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwnpwnnn hw b

bdwquagnyti aiuyhtt wnwownly bphuywagnwd dwubtiwlihg:

Quihwpwdhu 95: Fudwt wnwplw E hwunhuwunud® Yjwphwnht 10dg N10

<pwybph wwhwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywinwufuwnige)ut
</€ wujwunwdp hwjwnbp hwjwinbp hwdwnnin uy urentl
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint wa wipgnnie
nbwpnud gk “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Swpd>> UM X 12889.8
Uwutiwyhgubph Cunpjwé dwutiwyhg Uwutiwlgh wnwowplws ght
qpwnbgpwé U wutiwlgh wujwunudp /punpywd dwutiwygh Jwnwitia USS. €< nnud/
wnbinkpp hwdwp Uk “X”/ 9 S5

<<Lwwnwh Swpd>>

1

umne

X

12889.8

Ltuppywd dwubiwlghti nnnobyni hwdwn Uhpwndwd swhwbihy' hpwdbnh wwhwbobiinhtl pwdwpwnnn hwpg U

ujwquwagnyti qguuyhtt wnweownly ubphuywagnwd Jwutiwlhg:

Quithwpwdhu 96: Yudwt wnwplw E hwunhuwund® Jdbpwwwihy 40dg N30

<pwybph wwhwugubpht | <pwybtph ywwhwugoubphu
Uwutwygh hwdwwywwnwujuwunn shwiwwywwwujuwunn Uthwdwywnwyluwnie)wl
/< wujwunwdip hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
nbiwpnid Uk “X”/ nbwpnid uoky “X”/
<<Lwwwih
1 Swpd>> UM X 30390
U wutwlyhgubiph Cunpjwéd Jwutwlyhg Uwutiwlgh wnwewplyws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutuwlgh /wnwitig USE, << npwd/
wnbintipp hwdwp Uk “X”/ ’

1

<<Lwwnwh Swpd>>

X

30390

umne

Ltuppdwd dwubiwlghti nnnobyni hwdwn Uhpwndws swhwbihy' hpwdbnh wwhwbotiinhtl pwdwpwnnn hwg U

ujwquwagnyti quyghtt wnweownly ubphuywagnwdé Jwutiwlhg:

Quithwpwdhu 97: Fudwy wnwplw kE hwiunhuwtunwd' Swunpuh$bu 20uq

/<

<pwybph ywhwugubphu
Uwutiwlgh hwiwwwwwuluwunn
wujwunwdip huwjuntip
/hwdwwwwnwufuwubnt

<pwybph ywhwugubphtu
shwiwwywwwujuwunn
hwjwnbp
/shwdwwwuwnwuluwubint

Uuhwiwwywwmwuluwunipjwu
hwdwnnun ufuwpugpnypniu

37




nbwpnud gk “X”/

nbwpnud gk “X”/

<<Lwwwih
1 Swpd>> UM X 42000
Uwutwlyhgutiph Cunpjwéd Jwutuwlyhg
qpwnbtgnpwsé U wutiwlygh wujwunudp /puinpqwd dwutwlgh Uwutiuligh wnwguipljwé ght

wnbinkpp

hwdwp ugh “X”/

/wnwug UKL, ££ npwd/

1

<<Lwwnwh Swpd>>
umne

X

42000

Ltupndws dwutiwlighti nnnotynt hwdwpn Uhpwndwd swihwthy' hnwybnh wwhwbobiinhti pwdwnpwnnn hw b

bdwquagnyti aiuyhtt wnwownly bplhuywagnwd dwubiwlihg:

Quithwpwdht 98: Fudwi wnwplw kE hwunhuwunud® Ushwy 304

<pwybph whwugubpht | <pwybtph ywwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwdwywnwyuwbnie)wl
</< wujwunwdp hwjwnbp hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubiint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Swpd>> UM X 963
<<Lbynw|tpu>>
2 Jld,qml . X 720
Uwutwlyhgutiph Cunpjwéd Jwutwlyhg Uwutiulgh wnwewplws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /puinpywé dwutwlgh /winuig U<, €< npuid/
wbnbkpp hwdwp ugb) “X”/ ’
<<Lbynwibpu>> UMC
: Junw|tip X 790
<<Lwunwh dwpd>>
2 b r 963

ume

Lupndwd Jwutiwlighti nnnobint hwdwn Uppwndws swthwbihy' hpwdbnh wwhwbotinhti puwudwnwnnn hwyn U

ujwquwanuyt aiuyhti wnwownly tinhuywagnwd dwutiwlhg:

Quihwpwdht 99: Fudwiu wnwplw E hwunhuwtind® Lundhynih puntp 40g

<pwybpph wwhwugubpht | <pwybph wwhwugubphu
Uwutiwygh hwiwwywwwufuwinn shwdwwywwnmwuluwunn Uthwiwywinwufuwinie)ul
</€ wujwunwdp hwjwnbip hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint wdwnnwn Ujwpwgpnypnt
nbwpnud uob “X”/ nbwpnud ugkip “X”/
<<Lwwwih
1 Suwnd>> UM X 9396
Uwutwyhgubph Cunpjwéd Jwutwlhg Uwutiwlgh wnwowplws ght
qpwnbtgpwé Uwutwlygh wujwunuip /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbnbpp hwdwn Uty “X”/ g uss, S5

Lpnndwsd Jwutiwlghti nnnobine hwdwn Uppwndws swthwiihy' hnwdbnh wwhwbotibnhti puwudwnwnnn hwyn U

ujwquwanuyt auyhti wnwownly tinhuwywagnwd dwutiwlhg:
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Quihwpwdh 100: Fudwy wnwplw E hwunhuwtnid® dhpwywy 5410ud

<pwybph ywhwugubpht | <pwybph ywwhwugubphu
Uwutwygh hwiwwwwwuluwunn shwiwwywwwujuwunn Uthwdwwywinwuliwbnge)ut
</€ wuyjwunwdip hwjwnbip hwjwnbp hwiwnnin Wywpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwuwnwuluwubint pugnnye
nbwpnud gk “X”/ nbwpnud gk “X”/
<<Lwwwih
1 bwpd>> UMNLC X 8100
<<LbGynw|tpu>>
2 Jldmm[ P X 6375
Uwutwlyhgutiph Cunpjwéd Jwutuwlyhg Uwutiwygh wnwewpyws ght
qpwnbtgnpwsé U wutiwlygh wujwunudp /puinpqwd dwutwlgh Junwitg UCS. €€ nnwd/
wbnbkpp hwdwp ugky “X”/ 9 S5
<<Lbjynw|bpu>> UMNLC
1 nulp X 6375
<<Lwwnwh dwpd>>
2 b " 8100

ume

Ltuppywd dwubiwlghti nnnobyni hwdwn Yhpwndwd swhwbihy' hpwdbnh wwhwbotiinhtl pwdwpwnnn huwg U

ujwquwagnyti guyghtt wnwownly tbphuywagnwd Jwutiwlhg:

Quihwpwdht 101: Yudwi wnwpyuw E hwunhuwunut® Uwipnunwiing 2dg N24

<pwybph wwhwugubphtu | <pwybph wwhwugubphu
Uwutwlygh hwdwwywwnwufuwunn shwiwwywwwujuwunn Uthwiwywnwuluwinte)wl
</< wujwunwdp hwjwnbp hwjwnbp hwdwnnw ly el
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint wa wipwannye
nbwpnud gk “X”/ nbwpnud gk “X”/
<<Lwwwih
1 Swpd>> UM X 8250
<<4hywnp
2 Quiyjwu X 9000
Nw$hyp>> UQ
U wutwlyhgubiph Cunpjwéd Jwutwlyhg Uwutiwlgh wnwewplyws ght
qpwnbtgpwé U wutiwlygh wujwuniudp /punpwd dwutwlgh Junuitg UCS. €€ nnwd/
wnbnbkpp hwdwp ugk) “X”/ 9 S5

1

<<Lwwnwh Swpd>>
umne

X

8250

2

<<hlywnnp Quuijwt
Nw$phyp>> U

9000

Lupndws Jwutiwlighti nnnobint hwdwn Gppwndws swthwbihy' hnwdbnh wwhwbotibnhti puudwnwnpnn hwin U

ujwquwagnyti quyhtt wnweownly tbphuywagnwdé Jwutiwlhg:

Quithwpwdht 102: Yudwi wnwplw k hwunhuwunud® 0dtwpwgn 200q N30

Uwutiwygh hwiwwywwmwuluwunn shwiwwywwwujuwunn
</< wujwunwdip hwjwnbp hwjwnbp
/hwdwwwwnwufuwubnt /shwdwwwwnwuluwubint

<pwybph wwhwugub

nbwpnud ok “X”/

pht | <pwybph wwhwugubphu

nbwpnud ugbip “X”/

Uuhwdwwywunwuluwunyejwu
hwdwnnun ujwpwgpnypniLu

39




<<Lwwwih
1 Swpd>> UNC X 2840
<<4hlwnp
2 Quiyjwu X 148500
Ntwphyh>> U
Uwutwlhgubph Cunpywsé dwutilhg Uwutwlgh wnwowpywé ght
qrunbgpws | Uwutwlgh widwunwp | /punpdud dwutiwlgh /winwiig USE, << npwd/
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